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1. (2023 « oA P F DL« ) DAIEREL £(x) =x+4sinx, WHIZE y = £(x) £ 5 (0, £(0) ALV TN
C )

(A) 5x—y=0 (B) 5x+y=0 (C) x-5y=0 (D) x+5y=0

ZER: A

BRtr: f'(x)=1+4cosx= f'(0)=5, X f(0)=0, FrLApRUIZ N y-0=5(x-0), #H1G: S5x—y=0.

2. (2023 « &FHLE (MO « %) a%méﬁf(x)z(lm)ln(nx). Ha=—11, MZy=F(x) W f(Q) 4
X

DI TTRE N
Z2X: (In2)x+y-In2=0

i

fRAT: Ya=-1K, f(x):(l—l)ln(nx), f’(x)z—izln(1+x)+(l—1)-
X X X 1+ x

BBl F(1) =0, f'()=—In2, BFRVLTFER y—0=(-In2)(x—-1), ¥IFHE: (In2)x+y—In2=0.

3. (2023 « VU JIREALL « Sk ) BEREL £(x) ==, WIEHZE y = £(x) 7E (=1, f(=1)) b A2 55 79 A A el B s

ex

—“AEmEAN ¢ )

(Ade (B S @<L &

2 -+ 3

L B S =2 =2e, X f(-D)= =
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(e*)’ e

FTUANZE y = f(x) 7E (=1, f (D)) eRIVIZTTREN y — (=€) =2¢e[x— (=1)], HHG: y=2ex+e,

A AR, f(x) =

(y=2ex+e (y=2ex+e 1 I
17 = y=e= B(0,¢), I = x=——= A(-—=,0), ﬁﬁuSMOle‘OA‘-‘OB‘:lxex
x=0 y=0 2 2 2 2
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4. (2022 « VU1 pARAAI » k) HZ y=hkx—2 S5HZ y=xInx HY], NSLE k =

EZEZ: 1+In2

BEMT: J | | Aps WYl RN (x,,x,Inx,), HEE, (xlnx)=1+Inx,

1+Inx. =k @O (x b1 > A 2
i, g N =k O _ ,
kx, —2=x,Inx, @ AN R B 21 -

MOMRAQDWEELS: (1+Inx)x,—-2=x,Inx,, fF#S: x,=2, llk=1+1n2.

5. (2022 « £2FEFEH (K0 « k) CHEE f()=x -x, g(x)=x"+a, MZEy=f(x)ER (x, f(x)) 4
IVt A2 2 y = g(x) IVIZ, & x, =—1, WS a HMEN
=5 3

A

e, f(-)=0, f'(x)=3x"-1, Frbl f'(-)=2,
WY x = —10F, M2k y = F(0)1E (x,, f(x) BRIV TTHEN y=2(x +1)
AR, HZy=2(x+) WML y=g(x) I,

WHZ y=2(x+1) 5% y=g(x)MHUIT x = x4,

rxg +a=2x,+1)
2%, =2(VIR

hij < , 15 : a=3.

6. (2023 « LA « k) BHZL y = x* 1 & P3,5) VI ZR T FEN
EE: y=2x-18y=10x-25

FRAT -

WV O(x,,x), (x°) =2x=y=x"1Ex Q WV TN y—x; =2x,(x—x,) O,

B PGS RANDOE: 5—-x2=2x,3-x,), fEfF: x,=18(5,
ARIEI ORGP K VIZ R TN y = 2x —18% y =10x — 25.
7. (2019 « JLI34E » k) M ALEMZE y=Inx b, HiZMELE S 4 YIRS (—e,—1), WS 4K
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WRAT: B A(x,Inx,), B39y =1, FFLLEHZR = Inx7E£8 A REIYIZ TN y—lnx, = (x—x,)»

by Xo

Ny 1 p
A (—e,~D A —1-Inx, =—(-e-x,), BHA: x Inx, =eD,

X0

W, i (—e,—1) RASMERZ y = Inxfy 1 2412, FiLlx = e R A AROMIME—#7, H5 A IR (e,1).
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—J=Inx
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8. (2022 « ZHIZINBIL « dhhkk) TF F(x) NIEREL, HXx>08, f(x)=e™" L £(x) £ 5

X
(—%, f‘(—%))é&%tﬂ%ﬂ%%

ER: y=2x+4

B 1

NN f(x) NiEREL  H= x> 01, f(x)=e2“+i, FIT LAY x < 0 I, f(x):f(—x)zezx’—i,

() =2 + 12 , FITLA f(—%) =3, f'(- %) =2, M RYIZITTREN y —3=2[x - (—%)] , Bl y=2x+4.
X

M 2:

A, x>0, f(x)zezx_ljtla f’(x):2ezx_l—i2, Fﬁw\f’(%):_z,
x %

N f(x) 2B R, A f’(—%):—f’(%)zz, | | | Ef(—%):f(%):?,,

MR AT R y—3=2[x—(—%)]= (it y=2x+4.

9. (2022  Him= % [ 45 « dokok) H ML y=(x+a)e" B LARIE ST, W a BBUEE EN
EE: (—o0,—4) U (0, +00)

B WYIRON P(x,,(x, +a)e™), HEE, Y =(x+a+l)e,

FITUARNZL y = (x + a)e" fE R P AeHIVIZLHI JTRE N y — (x, + a)e™ =(x, +a+1)e® (x—x,) @,

K IR 55 (0,00 RO —(x, +a)e™ =(x, +a+1)e” - (—x,), BHA: x +ax,—a=0,

FiAA=a” +4a>0, f#15: a<-48{a>0.
10. (2022 « HHLEHHR « dokokok) CRIBREL f(x) = Inx| BT ERE K (x, £(x)) 5 (x,, f(x,)) LRI




AR AT 5 POx,,p)s M C )

(A) x1x2=_1 (B) x1x2=e (C) x(]:xl_l_xz (D) x{): 2
2 X, + X,
EX: D
FEAT -
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=—1, Mifixx, =1, WL A. B ¥R

RANFILTAIEE, FBL ' (x)f (x,) = -

;f':\?.f{ﬁ’iﬁl{]@]ﬁ%ﬁﬁj’ﬂy—(—]ﬂxl)=—i(x—x1), LLSLIVER y=—i36+1—lnx1 ,
X1

X

WP AEHIVIZTTRE N y — Inx, =i(x—x2), LESLIEEE y:ix+1m:2 -1 @,
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